A £ 0l & AHSH & Ml A

M IS
HE: NS AL
Chel: #ESTME HASY 2 HoAL X COR
SA - B B(30) - HSAIY - BAS Ol &kt e HImE2
SIS 274,176 213,6%6 60,480
s At ZHI 232,296 171,816 60,480
HE=SNHEH A2 & AL K 167,106 106,076 61,030
= XREE 24 49,400 49,400 0
201 Let2AY| 12,400 12,400 0
01 At 22|l 12,400 12,400 0
OdIEH2Z 2ot~ H| 3,400,000& 3,400
O 30,0003 +25F «12& 9,000
301 LEtENMF 37,000 37,000
11 HALAHIXIZ 3 3,000 3,000
OIS HAE & XA
AsH(13]) 100,000 *25% 2,500
OFUXNXNEZZ NN 2 500,000 500
14 J|Et2 &3 34,000 34,000 0
O2A=E 34,000,000& 34,000
FOIHEHIAIL K& 102,906 52,676 50,230
201 et A 50,906 43,176 7,730
01 At 22|l 11,900 12,020 2120
OFANSFIHIANAE EHZ
275,000& 123 3,300
OFEA ALFUEZ 2teld]
130,000 123 1,560
O&==D], Hidl, SII18330| Sx=
3,200,000& 3,200
Os A AsH| 60,0003+ 12& 720
O=8)| & ZHZely dxis
260,0002 * 12& 3,120
02 S=24| 39,006 31,156 7,850
OXteF= X6l (20H) 7,000,000 7,000
OFA Htet SADIARZ
1,200,000& =122 14,400
O&JIZH |RXIEH 88,0003 128 1,056
ORI S&L=0| RAIESHI
550,000& 550
O A YA AR S X 2t2|d]
3,700,000 3,700
O At X Zeld| 6,000,000& 6,000
Os&IIsXbl 150,000& 123 1,800
OFEAI LH2IR THE A 4,500,000& 4,500
203 R F&l| 2,300 2,300
03 AR FRIHRFAIH] 2,300 2,300
OMTIE SHATAIMER
2,300,000& 2,300
401 AIEHIZ 2018 37,000 6,000 31,000




A S
HE: NS AL
thel: HF=EXNEEH HES2Z L HoYAE X CEEREE)D)
SA - B . B(30) - HSAIY - BAS Ofl &kt e HImE2
01 Al&HI 37,000 6,000 31,000
= AL XZ 22| 6,000,000& 6,000
Oz A st&4 224
20,000,000& 20,000
O=s&dsm e|2e2 6,000,000& 6,000
OFAF CCTV A L S&(500)
5,000,000& 5,000
405 Kot SHI 12,700 1,200 11,500
01 XML =EF S| 12,700 1,200 11,500
O=2= AN 2L 800, 000& »2CH 1,600
Ol sggsll 7
8,000,000& = 1CH 8,000
OJtAdeIx = 150,000 *1CH 150
Oflaolg WAJ|D| ¢ 350,000& 350
OMO=®4s s 7 2,600
=P\ 300,000 2K 600
-| Xt 100, 000 *2004 2,000
IE 0l & 14,800 14,800
401 AIEHIZL 2018 5,430 5,430
01 AlEHI 5,430 5,430
O4Il= 63 OtSHRLIElI 32t =4 5,430
—AI30 X & HAEE Hi2E SA
5,430,000& 5,430
405 XHaHE SHI 9,370 9,370
01 ML SEFSHI 9,370 9,370
O4llE 65 OI2HRLUIEl B2 &7 2
9,370,000& 9,370
SCIBtEEsEA 64,590 65,140 ABY0
SClEtEEsEA4NA 64,590 65,140 ABY0
301 et Z 64,590 65,140 ABS0
07 8% - 0|% - U EsE4S 64,590 65,140 ABY0
Os&==g 300,000 138+ 122 46,800
OSEHUZ 300,000 x13Z*23] 7,800
OS &3 Q&Y
20,0002 * 138 »23|* 123 6,240
Obt& st 50,000 %759 3,750
sy =N g2 =2 600 600 0
AsE =X 23 600 600 0
201 LBt A| 600 600 0
02 33=2gH| 600 600 0
Ozl BAEXMEIA MEE SAZS(3
tH) 50,000&*12& 600
HY2IEH(AIS) 41,880 41,880
[2ZHI(ATHS) 41,880 41,880
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